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POLITICAL SCIENCE
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1. How many elements of the state are there in Kautilya’s Theory ?
(A) Eleven (B) Seven (© Ten (D)  Five

2. Which one ‘right’ in the follwing includes two other rights according to locke ?

(A) Right to Property (B)  Right to Life
(©)  Right to Liberty (D)  Right to Equality
3. Who among the following propounded the concept of ‘organic intellectuals” ?
(A) Rawls (B)  Nozick (©  Gramsci (D) Habermas
4. Who among the following wrote ‘Life Divine’ :
(A) Gandhi (B) Savarkar (©)  Aurobindo (D)  M.N. Roy
5. Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Assertion (A) : Behaviouralism is value free :
Reason (R) : Behaviouralism is intuitive :

In the context of the two statements which one of the following is correct ?
(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(C)  Aistrue but R is false
(D)  Ais false but R is true

6. Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Assertion (A) : Liberty without equality has no meaning.
Reason (R) : Absolute liberty is not possible

In the context of the two statements which one of the following is correct ?
(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©)  Ais true but R is false
(D)  Ais false but R is true
7. Arrange the following books in order in which they appeared. Use the code given below :

i. ‘Das Capital’

ii. “The Laws’

iii. ‘A Discourse on the Origin of Inequality’

iv.  ‘New Humanism : a Manifesto’

Code:

(A) il dil i, iv B) i ii, iii, iv © i, i, i, iv (D) iv, iii, ii, i
8. Arrange the following events/concepts in order in which they appeared. Use the code given below :

i. Glorious Revolution ii. Proletariat Revolution

iii.  Total Revolution iv. Behavioural Revolution

Code:

(A) i, i, iii, iv (B) iii, iv, ii, 1 ©  iv, iii, i, il (D) i, ii, iv, iii
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10.

11.

12.

13.

14.

15.

16.

Match List I with List II and select the correct answer from the codes given below :

List I (Thinkers) List II (Ideas)
(a) Rawls i. Hegemony
(b)  Locke ii. Distributive justice
()  Gramsci iii.  Sovereignty
(d) Bodin iv.  Civil Society

V. Separation of powers

Code :

a b c d
A) i i i v
(B) i v iv iii
(© iii i iv ii
O) i iv i iii

Match List I with List II and select the correct answer from the codes given below :

List I (Authors) List II (Books)
(a) Gandhi i. Philosophy of Right
(b)  Aurobindo ii. The Statesman
()  Plato iii.  India of my Dream
(d) Hegel iv.  Discovery of India

V. The Human Cycle

Code :

a b c d
A) i ii iv iii
®) i iiooii v

© i v i ii
O) i v i i

Who among the following is considered to be the founder of comparative study of government ?

(A)  Almond (B)  Finer (©)  Aristotle (D) Pye
When did Comparative Politics emerge as an autonomous discipline ?

(A)  In the thirties of the 20th century (B) In the fifties of the 20th century

(©) In the sixties of the 20th century (D) In the seventies of the 20th century

Which one of the following is considered to be a basic feature of a federal
government ?

(A) Separation of Powers (B)  Cabinet Dictatorship

(©)  Collective Responsibility (D) Division of powers between the centre and the units

Identify the concept associated with Political Communication :
(A) Developmental Loop (B)  Over-loading
(©  Input-Function (D)  Gate-Keepers

The essential feature of authority is :
(A)  Force (B)  Legitimacy (©) Persuasion (D) Influence

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Assertion (A) : Democracy has not succeeded in most of the developing countries
Reason (R) : participant political culture is lacking in developing countries
In the context of the two statements which one of the following is correct ?
(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©)  Aistrue but R is false
(D)  Aisfalse but R is true

D —-0205 4
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17.

18.

19.

20.

21.

22.

23.

24.

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Assertion (A) : The American Senate is the strongest second chamber of the Legislature in the
world
Reason (R) : The American Senate has equal powers as the House of Representatives.
In the context of the two statements which one of the following is correct ?
(A) Both A and R are true and R is the correct explanation of A
(B)  Both A and R are true but R is not the correct explanation of A
(©) Aistrue and R is false
(D)  Ais false and R is true

Arrange the following ideas/concepts in order in which they appeared. Use the code given below :

I Feed-back loop II Rule of Law
I Due Process of Law v Democratic centralism
Code:
A LI Iv, 11 (B) ILIL IV, I © IL IV, 1L 1 (D) 1L 1V, L 1
Arrange the following books in order in which they appeared. Use the code given below :
I ‘The Politics of Developing Area’ II ‘Modern Politics and Government’
11 ‘The Political Process’ IV “Aspects of Political Development’
Code :
A) IV, IOLLIO (B) LILIIL IV O I, LI IV (D) LI, IV
Match List - I with List - II and select the correct answer from the codes given below :
List - I (Political Systems) List - II (Countries)
(a)  Federal, Presidential, Republic i. India
(b) Federal, Parliamentary, Republic ii. UK.
(¢)  Unitary, Parliamentary, Monarchy iii. ~ Germany
(d)  Presidential cum Parlimentary, Republic iv. USA
v. France
Code :

a b C d
(A) iv i ii v

(B) iv i ii iii
<o v iv iii ii
D) v ii iii iv

At which session, the Indian National Congress passed the resolution for
Poorna Swaraj ?

(A) Calcutta (B) Bombay (©) Lahore (D) Madras

Doctrine of the Basic Structure of the Indian Constitution was enunciated by the
Supreme Court in :

(A) Minerva Mills case (B)  Keshavanand Bharti case

(©) Golak nath case (D)  Shankari Prasad case

The function of Pro-Tem Speaker is :

(A)  To conduct the proceedings in the absence of speaker

(B)  Officiate as speaker when speaker is unlikely to be elected

(©) Swear in members and hold charge till a regular speaker is elected.
(D)  Checks if the election certificates of the members are in order.

Which of the following bodies is presided over by a non member ?
(A) Lok Sabha (B)  Rajya Sabha
(©) Legislative Assembly (D) Legislative Council

D —-0205 6
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25.

26.

27.

28.

29.

Match List - I with List - I and select the correct answer from the code given below :

List-1I List - II
(a)  Article 14 i. Adequate means of livelihood
(b)  Article 39 ii. Right to equality
(c)  Article 368 iii.  President’s rule in a state
(d)  Article 356 iv.  Amending procedure of the Indian constitution
Code :
a b c d
(A) ii i iii iv
(B) ii i iv iii
© i i v ii
D) iv iii i ii

Match List - I of Functionaries with List - IT of Oath and select the correct answer from the codes given
below :

List - I (functionaries) List - IT (Oath)
(a)  President of India i. Secrecy of office
(b)  Judges of the Supreme court ii. Faithful discharge of duties
()  Members of Parliament iii.  Faith and allegiance to the constitution of India
(d)  Ministers of the union iv.  upholding the constitution and the law.
Code:
a b c d
A) i i v ii
(B) iv iii ii i
(©) iii iv ii i

(D) iii iv i ii

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Choose the correct answer from the codes given below :

Assertion (A) : Rule of law finds expression in numerous Articles of the Indian Constitution
Reason (R) : Rule of law does not form the part of the basic structure
Code :

(A)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(B)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(©  (A)is true but (R) is false

(D)  (A) is false but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
Choose the correct answer from the codes given below :

Assertion (A) : Directive Principles are not justiceable.

Reason (R) : Judicial pronouncements have made them part of the basic structure.

Code:

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(B)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(©)  (A)is true but (R) is false

(D)  (A)is false but (R) is true

Choose the correct chronological order of the concepts used in the Preamble of the Indian Constitution
from the codes given below :

i. Equality ii. Liberty

iii.  fraternity iv.  Justice

Codes :

(A)  iv, did, i, i (B) v, i, ii, iii © v, ii, i, iii (D) i, i, i, iv

D —-0205 8
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30.

31.

32.

33.

34.

35.

36.

37.

38.

Identify the correct chronological order in which the following were elected as President of India :

i. Fakhruddin Ali Ahmed ii. V.V. Giri

iii.  Zakir Hussain iv.  Sanjeeva Reddy

Code :

A) i, i, il iv (B) i, iii, iv, ii © iii, ii, i, iv D) v, ii, iii, i

Which one of the following organisational principles promotes motivation.
(A) Hierarchy (B) Gangplank (C) Centralisation (D)  Division of work

The Pendleton Act of 1883 was a major step towards reforms in civil services of :
(A) UK (B) USA (©)  France (D) Germany

According to max weber, some of the characteristics of fully developed bureaucratic form of
organization are :

i Hiererchical order ii. Officials holding office by election

iii. =~ promotion is by achivement alone iv.  Selection on the basic of objective qualification
Select the right answer from the codes given below :

Code :

(A) i, ii, (B) i, iii, © i, iv, D) i, iv,

Identify the scholar who has remarked that ‘The bureaucracy is a circle from which no one can
escape, its hierarchy is a hiearchy of knowledge” :

(A)  Frederick W. Riggs (B) Max Weber (C) Karl Marx (D)  Morstein Marx
Identify the concept that is not associated with the ‘Sala” Model of Riggs :
(A) Bazar-canteen (B)  Poly-normative (©  Clect (D) Industria
SAIL is :
(A) A public corporation (B) A Departmental undertaking
(©) A Holding company (D) A Private Limited company
Match List - I and List - II by using the codes given below :
List -1 List - II
(a) W.F. Willoughby i. Introduction to the Study of Public Administration
(b)  L.D. White ii. Principles of Public Administration
(c L. Urwick iii.  Idias and Issues in Public Administration
(d) Dwight waldo iv.  The elements of Administration

Code:
a b C d
A) v iii ii i

B) i i i v
© iv i i i
O) i i iv i

Match List - I and List - II by using the codes given below :

List - I List - II
(a) Habeas Corpus i. By what warrant of Authority
(b) Mandamus ii. Quashing decision beyond legal
()  Certiorari iii. ~ Command to perform
(d) Quo warranto iv.  Produce the body of a Person

Code:
a b C d
(A) iii iv ii

.

®) iv i i i
© i i iii v
D) i i ivii

D —0205 10



30.

31.

32.

33.

34.

35.

36.

37.

38.

YRA & Teafcl o1 &t ST S

i, ThehEE el 3T i ARG i STeRgE v,  ESe g
he:
(A) i, i, iii, iv (B) i, iii, iv, i © iii, ii, i, iv (D) v, ii, iii, i
Frretifena o & T HiTeA fagT= SR T WieaTfed el ¥ |
(A) U HUH (B) T wi® (Q HEEET (D) wHE fawsA
ek Harell # GUR ¥ Trafyd mSeied Tae 1883 fohad Fwaf-ed o ?
A) AF B AT © W (D) S
g JoR & SFTER, qoied I faenfad Tl ot Fo fasioand § : ol &1 ¥ar i gu 9ét s gh |
i IR S ii.  frares wenuia defieRr
iii. U ARG TSI A iv. R AR STHIRd wEw
he::
(A) i, ii, (B) i, iii, © i, iv, D) i, iv,
39 fagm &1 A Fared 92 wet fo et o 3 € o8 i 72 5 ehdl, S9! WuH 99 R G E
(A) TeRwmegfe® (B) AR AR (© I A (D) WA "o
I TR I TE=E TSRt g fog & |ren gfoa™ 9 72 ¢
(A) @SR HUEH (B) HEA-IRRCHE
(© FEE R (FieR) (D)  eieifirs (fore) wom
@HWWW?&W%
(A) TR fm (B) U fawria gfaer
© (=) wet (D) = Trsit Hiftra (Fenfieer) ot
=1 faT T e 1 T B GG - 1 G - 116 Tl e &1
ot -1 =t -11
(@) == T forersit i. FUISRM < 3 W 3T Ufeeteh Tefufregy™
(b) TA. S =|E ii.  ffaue s wefitrgem
(¢ Ta. 3few iii,  oTEfeam™ Uve T¥gS 37 Ufseieh AR
d) EEETEE iv. T UelHed T TeHiTeRE
he:
a b c d
(A iv @i i i
(B) i i i v
© iv i i i
D) i i iv i
=1 fET 7T e T T A GG - 1 G - 119 HE e |
-1 g%ﬁ il
(a) =<l ToaafiRT forg T sRW |
(b) TEERY i eTfeR T o SATHeR & § wrel fofa i | e
(© 3w iii. @ fav o ferg st
(d) TR gt iv.  EENRSufEd
he:
a b c d
(A) i iv i i
(B) iv i i i
© i i i v
(D) i i ivdii
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39.

40.

41.

42.

43.

44.

45.

46.

Arrange the following committees in order in which they appeared. Use the code given below :

1. G.S. Bajpai committee ii. Santhanam committee
iii. Ashok Mehta committee iv. Kothari committee
Code :

(A) iv, i, ii,iii (B) iii, ii, i, iv

© i, iv, i, iii (D) i, ii, iii, iv

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R)
choose the correct answer :

Assertion (A) : Independence and Impartial character of Public Service Commission has been
well ensured in the constitution of India.

Reason (R) : The consistution is the best only device to ensure integrity, and impartiality of
the members of Public Service Commission.

In the context of two statements which one of the following is correct ?
Code:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true but (R) is not a correct explanation of (A)
(©)  (A)is true but (R) is false

(D)  (A)is false but (R) is true

One of the following is the exponent of neo-realism :
(A)  Robert Cox (B)  Fred Halliday
(©)  John Mearsheimer (D) David Campbell

The concept of circular error probability is associated with :
(A) Chemical weapons (B)  Nuclear weapons
(©) Biological weapon (D) Conventional weapons

The primary explanation of state behaviour in neo-realism is the structure of :
(A) International organisation (B)  Nation state system
(©) Non state actors (D)  Civil society

‘Agenda for peace’ was proposed by :
(A)  Willy Brandt (B)  Butros Butros Ghali
(©) Kofi Annan (D)  Kurt Waldheim

The SAARC Conference 2004 at Islamabad agreed upon the creation of :
(A)  Free Trade area in South Asia (B)  United States of South Asia
(©)  Economic union of South Asia (D)  Regional trading block

Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :

Assertion (A) : Efforts at disarmament stops at arms control.
Reason (R) : With out arms states are vulnerable.
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(©)  (A)is true but (R) is false

(D)  (A)is false but (R) is true
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39.

40.

41.

42.

43.

44.

45.

46.

Freifena SfAfael o1 37k Wl HIeTIehH § Safeed hiferg | == fa T e o1 T3 i
i. Sft. wy. st wfafa ii.  wyHw gt
iii. TR fAfq iv. el |fafq

(A) v, i, i, iii (B)  iii, ii, i, iv © i, iv, i, iii (D) i, ii, iii, iv

1 < e fRU T | T HUA (A) T GHU ST HRUT (R) | HWE SW AT
HAT(A): Tk YT SN ki T F FoTeTd 7Y 9RA o Wiae H vate e w7 T

HROT(R): HfGu™ & 9 715 99 qehrish ¢ S alish 9o ST o Tal Sl SHMR Ta fsqardr smg
T ST et © |

Tl e & Hed | frefafad § 4 FH T e €2

he:

(A) (A)TE (R)SHI HEl € T (R), (A) 1 Hel A€ |

(B) (A)TE (R) I WEl € Fohq (R), (A) 1 TET =amen 76 ¢ |
O (A TEEFEIR) AL

(D)  (A) T  fofeg (R) TR 1

—~~

T~ T FOIdT hi= o1 2

(A) T hisd (B) Tl (© I T (D) <fae e
TS A& GHTAT hT TR fohed T2t g8 © 2
(A) R EER (B)  3TUTfork BfER © SfowziEr (D)  IRFIRER BRER

TFa-ATaTe H T % SRR ot Mo e fhdeh = ¢ ?
(A) IR e (B) TEITIFRA (C) TRIFFA (D) AV SH THS

TSt wR e TR yeatfaa foran ?

(A) foef e (B) TEE@I@E A (C) W R (D) T aTcEEH
TEATTETE H 9 2004 H ST &9 (1) T e H 17 ot ToA1 e T WeAid g ¢

(A)  feror afvrn # s SR & (B)  fer fvrn g T

(Q)  Sfeqor wferen o enifedes 99 (D) &S AR

= < g feu TR | T we (A) SR T (R) HROT| A e T e H F T swghd
HAT(A): TSR YA v FeEE qe Hifed @ S §

HEUT(R): W& o o1 @ FAOIR ©

&<

(A)  (A)TE (R) I W2 § T (R), (A) T 6 ATSNT |

(B) (AT (R) Tl Tl € fohmg (R), (A) i HE =1 &1 © |

© (A) 5@ B fohg (R) T T

(D) (A) T & fofeg (R) 1 &1
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47.  Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Choose the correct answer from the codes given below :

Assertion (A) : Krushchev proposed the principle of peaceful co-existence.
Reason (R) : Nuclear war is unwinnable
Code:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(©)  (A)is true but (R) is false

(D)  (A)is false but (R) is true

48.  Identify the correct chronological order of the following regional organisations.

i. ASEAN ii. OPEC

iii. APEC iv. SAARC

Codes :

(A) i, i, i, iv (B) iii, ii, iv, i © i, i, iv, iii (D) v, ii, iii, i

49.  Match List - I with List - I and select the correct answer from the codes given below :

List - I List - II
(a) P.V. Narasimha Rao i. Six-nation disarmament initiative
(b)  Morarji Desai ii. Pokharan II
()  A.B. Vajpayee iii.  Look East Policy
(d) Rajiv Gandhi iv.  Genuine non-alignment

Code:
a b C d
(A) il i iv ii

®) iv i i iii
© i oiv i i
O) i i iv i

50.  Match List - I with List - II and select the correct answer from the codes given below :

List-1I List - II
(a)  Karl von clansewitz i. Heartland theam
(b)  Harold Mackinder ii. Conflict escalation
() Kenneth waltz iii. ~ War is the continuation action of politics by other
means.
(d)  Thomos Schelling iv.  Structured realisun

Code :

a b C d
(A) i i iv i
®) i i iv i
© iii iv i ii
(D) iv iii ii i

-00o0-
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47. =< g fGU T E, T FUA (A) T T THT FRO(R) T 1 A fH T Fe H | IR
FHAT(A):  T¥EE A Waq0l Hestiaia &1 s swataa fean
HRUT(R): A g5 SIal el o7 Fehll
e
(A)  (A)T(R) I TE & T (R), (A) i e AT |
(B)  (A)Te(R) I Wl § W(R), (A) i TEl = TRl B |
© (A)FWHTW(R) T T
(D) (A) T ER(R) TR T

48. 7= &t TRl < 33T I TEl hH ATy |
i arfeam ii.  Uw iii.  3TU®m iv. @&

Codes :

(A) i, iii, ii, iv (B) i, ii, iv, i Q) i, i, iv, iii (D) IV, 11, 10, 1
49. g -1 g - 11T gafed Hifsa qon = o Fe 9 9dt smga |

i -1 =t -11

(@) T TEwmiTE i B T e e

(b)  TRRST @R ii. e e

() @7 foed arsadt iii. 99 A SR I H A

(d) TS iE iv. fogs e fFraem

e

a b C d
(A) il i iv ii

B iv i i iii
© i iv i i
O) i i iv i

50. e - 1R g - 119 gafed i@ qon 9= ol Fe 8 vdt swgfa |

-1 gt -10
(a)  hTe I FATSITORS T A K REAR|
(b) esHfwSR ii. RIS
(©  FY e iii. g5 ToHIT i 3R Akl T S W1 ©
(d o 9fET iv.  HEAHE Feneer
he:

a b C d
(A) i i v i
(B) Qi i iv i
© i iv i ii
(D) iv @il i i

-00o0-
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